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D Roll No. soavverrnyes..
(20221) [ Sem. 7
B. Sc{,ﬁg)'“ \,,//

13148

B. Sc. (Ag.) Examination, Dec. 2020
AG. ENGINEERING
Farm Structures, Power and Machinery

(D-393)

Time - Three Hours ] [Maximum Marks : 50

Note: Attempt questions from all Sections as per

instructions.
el @Uet & FESTER 997 &SI |
Section-A
-

(Very Short Answer Type Questions)
(stfer &g Sl 5F)
Answer all the five questions. Each question carries
2 marks. Very short answer is required not exceeding

75 words. . 2}‘(5:10
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1. Valve system.
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2)
Connecting Rod.
T4GIoTH <
Farm stead.
P o& = 1
Radiator.
IzweT )
b lectrical fuse
fagga g o
Section-13
-
(Short Answer Tvpe Questions)
("y Faim B

any mwo guosions out of the following three

ANSWor ‘
cspon carries 5 marks. Short

: < Each 4qu
questions  Eac . o)
answer is regquired not ~xceeding 200 words. 5x2
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Explain tuel supply s» stem of 2
s Sorer gor Y e grored] FAEEC !

and working of an offset disc

diesel engine.

Explain the constructian
harrow.
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Explainthe di (lerent1ypes of grain storage structures,

et R 3 ORI oErel Eeeeien () &
| qjltinia

Section-C

qug-q
(Detailed Answer Type Questions)

(R e )

Answer any three questions out of the following five
questions. Each question carries 10 marks. Answer is
required in detail. 10x3=30
Rt e o 3 & RBedl & R 3 O
AT 1 9 9 10 oipt 1 ¢ | g o o

4| https://www.ccsustudy.com

Why cooling is required on an engine ? Explain forced
circulation cooling system with the help of diagram.
T B N TG o ¥ ? awga e
offererr SToTe 3 ot <t e & wwmEg |

Find indicated horsepower and brake horsepower of a
four-stoke cycle engine with following data -
Engine Bore - 14 cm, Stroke-20 cm, R.P.M.-1200,

Mean effective pressure 7.00 kg/em?, No. of
cylinder-3 and Mechanical efficiency 70 percent.
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Explain construction of a seeddrill with the help of a
sketch. Why seed drill calibration is necessary ?

TS HI2f3a 3 dan i 2 aema @ o | &9
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(a) [Explainthe working of a differential.
e fades A i wEmEy |
(b) Explain the working and advantages of 2

Hydraulic lift.
v EEsied e W FARR ad e A
gHeRe |
(a) Explain the importance of electrical power in
farming.
ity 3 g AT | e sl |
(b) Explainthe working of acombine harvestor.
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